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REMEEAFRILRBROT

NESEMEE BLRESELHEE (BfI : M)
# B WIERIPHEEA HIEE WIERTHE
| BEIBHNZOR
1. EETRERA
(1) EXHEERNA [ 1,000 J|[ 011l 1,0001]
O BEXxe&s N EEZDHA 1, 000 0 1, 000
(2) % = &8 E EZ B R A [ 4, 650, 000 ([ A 419,000] |[ 4,231,000 ]
@ WLELFEESSILEEZDIE 4, 650, 000 A 419,000 4, 231, 000
(3) & B ({t ) ¥ I A [ 68, 629, 000 1|[ A 36,733, 0001 |[ 31, 896, 000 ]
® B # & ;| E R A 68, 000, 000 A 37, 900, 000 30, 100, 000
@ Bt F B & R A 629, 000 491, 000 1,120, 000
® =F o ¥ IR A 0 676, 000 676, 000
(4) # B £ =3 m A [ 6,150,000 1([ A 3,058, 00017 ([ 3,092, 0001
O EBHESSE({CEEHEISINA 6, 150, 000 A 3,058, 000 3, 092, 000
(5) M IR A [ 1,000 ]|1 0111 1,000]
® # R A 1, 000 0 1, 000
HEREMAGT 79, 431, 000 A 40, 210, 000 39, 221, 000
2. BEIHXH
(1) &84t & £ B T & [ 75,829, 000]([ A 37,075 0007 ([ 38, 754, 000 ]
@ A =1 A -2 75, 000, 000 A 37, 466, 000 37, 534, 000
@ A % #F A B X H 629, 000 551, 000 1, 180, 000
® % h F B2 ¥ Wi 200, 000 A 160, 000 40, 000
(2) & B{LEE £ BB X H [ 13,422,000 ][ A 5 466,000] |[ 7, 956, 000 ]
O A L5 = b3 i 9, 100, 000 A 5,184, 000 3, 916, 000
@ Kk B x B B X HWH 950, 000 0 950, 000
® = b B ® it 1, 789, 000 A 35,000 1, 754, 000
@ * # B k-3 s 257, 000 23, 000 280, 000
® # # # k-3 it 1, 010, 000 A 138, 000 872, 000
® T £ K B X B 316, 000 A 132, 000 184, 000
BEEES LG 89, 251, 000 A 42, 541, 000 46, 710, 000
BEEFBNEESR A9, 820, 000 2, 331, 000 A 7,489 000
I REERENMREZOE
1. #EESHRA
(1) $SEZEEEREIA [ 156, 126, 000 1|[ 150, 821, 000 ] |[ 306, 947, 000 ]
@ BUHTEESES|LTASEFRA 180, 000 150, 000, 000 150, 180, 000
@ ESERSRUSTHASIERA 1, 342, 000 26, 000 1,368, 000
@ BLIEFEEST| LEMEAHER FEHRA 154, 604, 000 795, 000 155, 399, 000
2) BEEEEFEHRA [ 01|l 1,000 ] 1, 000
@ IBHBEMBFIRA 0 1, 000 1, 000
BREEFHRAG 156, 126, 000 150, 822, 000 306, 948, 000
2. BEEHXN
(1) BTEEEMSEXH [ 1,972, 000 ]|[ 148, 669, 000 ] ([ 150, 641, 000 ]
O ESERSRESESTH 1, 947, 000 A 1,331, 000 616, 000
@ BILILTEESS I UTFEETH 25, 000 150, 600, 000 150, 025, 000
(2) BTEEEIBEE [ 700, 000 1|[ 66, 0001 ([ 766, 000 ]
@O IBEnREmEREAZH 700, 000 66, 000 766, 000
(3) sEticFxEESERAMRESLS [ 1, 948, 000 1|[ 4,221,000] |[ 6, 169, 000 ]
BREEESZ A 4, 620, 000 152, 956, 000 157, 576, 000
REENNEZES 151, 506, 000 A 2,134, 000 149, 372, 000
Il EAESEENIRZDOER
1. WEEENRA
(1) & A & YR A [ 75, 000, 000 1{[ A 37,466, 0001 ([ 37,534,000 1]
® ®E M B A & X A 75, 000, 000 A 37, 466, 000 37,534, 000




# B HIERT-FRER fHIERA MIERTHRE
AT BB A 75, 000, 000 A 37, 466, 000 37,534, 000
2. MBEHZH

(1) ## A & & F X W [ 68, 000, 000 1{[ A 37,900, 0001 |[ 30, 100, 000 ]

O EHMEASEEEXIDR 68, 000, 000 A 37,900, 000 30, 100, 000
(2) B ABEEEEXH [ 150,600, 000 1|[ 01|[ 150, 000 000 ]
(3) ## & & & B X H [ 240, 000 1{[ A 240,000 |[ 0]

ABEB X A 218, 240, 000 A 38, 140, 000 180, 100, 000

M ERNZ LR A 143, 240, 000 674, 000 A 142, 566, 000

LRI EER A 1,554, 000 871, 000 A 683, 000

A AR R R 32 = 8R 16, 133, 000 658, 000 16, 791, 000

RIGEHUNZERR 14, 579, 000 1, 529, 000 16, 108, 000
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FRi255 4R 1AM ST JAIAET

AHMEREAMKLREREN T

PHENEE FEREESHRIBER (41 : 1)
# B WIERTFHE W IE H® WIERTHEE
| FEEIHRZOH
1. BEEFHRA
N HBEXBREERA [ 38,003, 0001 ([ A 173,000 | [ 37, 830, 000]
OMBZEREHEREYRA 38, 003, 000 A 215, 000 37, 788, 000
QRES IR A 0 42, 000 42, 000
2w B & F W A [ 4,048,000 1L 01|l 4, 048, 000 ]
OMBIEEERBESRA 4, 048, 000 0 4, 048, 000
PRERHRAM 42, 051, 000 A 173,000 41, 878, 000
2. EREREZH
N MBI EEERXIH [ 60, 000, 0001 |I A 53,750,000 |( 6, 250, 000 ]
OMBXZREESENEXH 60, 000, 000 A 53, 750, 000 6, 250, 000
P MEBXEEEREBERIL [ 4,048,0001 |1 01|l 4, 048, 000 ]
QA # B X H 1, 604, 000 6, 000 1, 610, 000
@Ok B X & B %X i 408, 000 0 408, 000
@E B ® X W 501, 000 199, 000 700, 000
@& fF B %X W 1, 535, 000 A 205, 000 1, 330, 000
®8 K & %X i 0 0 0
WRERZHN 64, 048, 000 A 53, 750, 000 10, 298, 000
WE RN ST A 21,997, 000 53, 577, 000 31, 580, 000
I RSO
1. REFBHRA
(1) 4% & & E AW A [ 01|r 27,319,000 |[ 27, 319, 000]
@ MBRZEESTILTALIMARA 0 217, 319, 000 27, 319, 000
BRERNRAH 0 27, 319, 000 27, 319, 000
2. BEEHZH
N ETEEDRB XH [ 01|r 37,830,000 |[ 37, 830, 000 ]
OR- 53 3 LE N Eaa 0 37, 830, 000 37, 830, 000
_REHS UM 0 37, 830, 000 37, 830, 000
B ERNIR SR 0 A 10, 511, 000 A 10, 511, 000
I A EEENRZDER
1. BEEEBHRA
(1) EA&IXA [ 01|r 01|l 0]
O RUEASRA 0 0 0
MEERRAY 0
2. MBEHIH
(1) EBALEEXH [ 21,069,000 |I 01|l 21, 069, 000]
O RUBASEERH 21, 069, 000 0 21, 069, 000
MH R HN 21, 069, 000 0 21, 069, 000
M ERRTER A 21, 069, 000 0 A 21, 069, 000
) lvEZ 2 ] A 43, 066, 000 43, 066, 000 0
AR MR 2 HE 72, 615, 000 A 12, 615, 000 0
R HIRE 21 29, 549, 000 A 29, 549, 000 0




HETRSE

FR255% 4A 1BH5FM26%F 3JANRAET

AEAFREAMBRLURBREAH
EARE (Bifr : M)
# B #HIERI - HER HHIEER WERTHER
| HEEEEUREZOH
1. HETEIRA
(1) & B & = % I A [ 1,430,000] ([ A 1,430,0001 |[ 01
® F % #l 4 1, 430, 000 A 1,430, 000 0
EEEBRAG 1, 430, 000 A 1,430, 000 0
2. BREFZH
M) & =# B X H [ 1,670, 0001 ([ A 644,000 ([ 1, 026, 000 ]
@ A % B * H 354, 000 A 304, 000 50, 000
@m B %X @®@B B X H 150, 000 A 100, 000 50, 000
® =B % B X W 495, 000 A 97,000 398, 000
@ * =) = X W 31, 000 A 3,000 28, 000
® & & # * H 10, 000 0 10, 000
® # & B ¥ 1 460, 000 0 460, 000
@+ 0O fh ¥ B B X H 170, 000 A 140, 000 30, 000
EREEZWE 1, 670, 000 A 644, 000 1, 026, 000
ERESREER A 240, 000 A 786, 000 A 1,026, 000
I #RIERNZOR
1. FRIERA
R REBMRAGH 0 0 0
2. JBREHZW
R TR HE 0 0 0
SEERIR T EZER 0 0 0
Nl EHEBNZ O
1. BHESHRA
(1) b & 7 & B W A 240, 000 A 240, 000 0
MHESURAG 240, 000 A 240, 000 0
2. MBEBHIW
M S B thET 0 0 0
MHERRZ =R 240, 000 A 240, 000 0
LU =T 0 A 1,026, 000 A 1,026, 000
BRRRR RN & 225 0 0 0
KA =T 0 A 1,026, 000 A 1,026, 000




1. AFEMNEX BHRBSELER MEFEHAEH

O #HIE¥EH

BMEORERVEEOEREBRICIIEBRUMMEDOREEF

BihTEEEX
(M EMEODEA
&) | miEha) 4% (FM)
Bt & 15 30 75,000
£ & 7 1.8 37,534
(2) BHhEDFTE
¥ () | mEha) {4 (M)
i M| 13 2.6 68,000
= & 6 14 30,100
() EMZEDRA
X5 -4 (1) m#&(ha) {flit% (M) WrEh(K)
_ FERE4T 1 0.3 60
B E|
—fer17 52 95 629
RERHS4T 1 0.3 60
£ & —fgs17 51 9.3 573 2,248 kg
(547FF)
(4) BHhZEDE
X5 43 (1) E#&(ha) fiits (FM) MIEAR(HK)
_ EERTH1T 1 0.3 —
B =
—pgsAL 31 9.5 629
WER GRS 1 0.3 -
= & —hga1 29 9.3 573 2,248 kg
(547F )

MRk HUREE E &
MMIZkZEBBIECOVT, ER25EE RO (FH255F128) RHKES

MNEREL-HER. £HFAFEHME 14,582 /3% K60kgkY

2,248kg+60kg= 37.467 x 14,582H

= 546,343.794

= 547,000 A/60kg




2. ABAMER FERXESRBIRERALTR

OWIEER

HRRAXBESRABRICRIBEROERICHSHIE

(MREXEREEEHMNE
HITEMR (WIER)
MER(FA) THIEZE
1% B EFM
REMEES
10,000 0 ol A 10,000
K [RRERE &
R |memnege 50,000 2 6250| A 43,750
& it 60,000 2 6.250| A 53,750
(2)REIBAE
+51(FA)
¥ H & 0
B A X & 0
# IE %8 0
(BE)VHTREE—E
eI ] w&
H24 8 TR EH | AT ~HT 5,000,000 | fE 5%
H25 8 1 REH | FaulT 1,250,000 |fEE%
& Bt 6,250,000




